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gation 1V — Neutralizing Toxins Lesson 4 — Proton Shuffle
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Answer the following questions:
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g_ Proton Shuffle \' “ Name:

g Period: Date:
-+ Purpose: This activity will provide you with information to expand on your
E definition of acids and bases.

(o} Procedure:

;- 1. Sort the cards into three groups — acid, base and neutral.
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Look for patterns within the three groups.
Sort the cards into smaller groups within each category.

How did you sort the acids into smaller groups? Show the groups below — include
each compound’s name and formula.
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List your reasons for placing the acids in these particular groups.

What do all of the acids have in common?
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How did you sort the bases into smaller groups? Show the groups below — include
each compound’s name and formula.
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.\) List your reasons for placing the bases in these particular groups.

What are two ways that a substance can form OH in solution?

bw‘) Ckiﬁv{)'\‘.‘("\é‘:\ﬂ oY\ oy XN\ \ﬂ{ H’LT_)

Toxins © UC Regents, LHS Living By Chemistry, 2004,




=

e Investigation IV — Neutralizing Toxins

e compounds are bases when they do not have an OH in
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DY z id you sort the neutrals into smaller groups? Show the groups below —

\ include each compound’s name and formula.
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@ List your reasons for placing the%glzial substances in these particular groups.

xcluding water, what is similar about all of the neutral substances? What causes
~— asubstance to be neutral? dont+ dissccarated o (€ \M
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. Why don’t H+ or OH- ions come off of ethanol, ethyl acetate, acetone, and
ormaldehyde?

li\ Would you predict HI to be an acid or a base? Explain.
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Water can be an acid or a base, but it is still classified as a neutral substance.
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Making Sense:

The Arrhenius definition of acids and bases defines them as substances that release
either H+ or OH-. How can we expand on this definition to include substances like
methylamine, CH3NH,, and ammonia, NH3?

If you finish early:
Ammonium chloride, NH4Cl is an acid. Write an equation explaining what you think
is going on in solution.
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